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gug -9/ SECTION - B
Wy 37 w7 / Short Answer Type Questions

mmlﬁzumzﬁmilhﬁlumﬁﬁf'mt
faw 2 3w Faifa & 10 x 2 =29

Question Nos. 1 to 20 are
10 questions. Each question carmes 2 marks.

FR?
in Jharkhand ?

Short Answer Type. Answer any
10 = 2=230

. mEeE U matiues F4ge H A 2

Which tribe his the highest population

2. ‘s@l 3 S fArmgae @R g 2
What is ‘Stop and Go Determinism 3
3. - IEm R 2 2
What 1s emigration 7
2

4. fag ol 4 anfter v uf) | g &7 41 A8 2
Which disease has increased the mortality rate in Africa and
Asia ¢

zio HEe@-Iei-Feh 31 do 3w HA fFH fmg 6 92 7 2 2
with which sutyect are Dr. Mchboob-ul-Haq and Profl. Amartyd

Sen reluted 2

6.  HIFIETY R 7 2
What is ecmpowerment ?

7. wA-9EE H WM T4 AEHd 2 7 )
What do vou mean by transhumance ?

g 3 &1 Fh T agw e R o 2
Grape cultivation is the speciality of which region ?

g @A faa fw wEn ) e g7 2
How many (Ypes of mining operation are there ? I
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0. W = gm R g 2
Whal is scattered settlement ?

L1 I % =0 q=@ s vl 51 3eemg 179 | 2
Mention four main linguistic families of India.

12, TR w=mn g & fav @ wml @ 3G il | 2
Mention any two lactors for increasing life expectancy.,

13, foen am 5 =8 21 vz S 2
Give uny two examples of {ort towns,

14, @& wrma w1 ainnfia i 2
Deline apricultural density

15.  la-snurfia 3 miaa- st 3gmm 9 s =5 fifFo 2
Disunglush between agro-based and mineral-based industry,

16, @ & fafum et & am fafa 2
Name the dillerent types of coal.

17, «fd TEn I uEA A el w8 smEmie e F faed =S s
&) Ieoig HTAT | 2
Mention any four reasons of shifting of sugar industry from
North India to South India.

PR Ee e CLE IR R TIELE 2
In which year was Planning Commission constituted

o & eAfET T AR e & 9-3 erem A | 3
Giive two cxamples each of personal and public modes of
cﬂm”mnwminn

bp, s @ Fai EETE ] = a3t =1 s b | 3
Mention any four items exported from India

e — y .
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ZTe 3T g U7 [ Long Answer Typc Questions

v T 21 W 26 @ s & | R A S SWS uy

& - - = 5 x =
% fru 5 3w fAaiia 7 3x5=1s
Ouestion Nos, 21 1o 26 are Long AnSier Type. Answer any

: : 5 ®x5=15
three questions. Eaclt question carmes 9 marks Ix5=15

21, 3w ) wafdf @ gaTfad ST ] & aua Sl | 5

Describe the lactors alfecting the location of industries.

22, NAETYIY FYE % Heed &) 9V w40 | 5
Describe the importance of international trade.

23. ek Ffy va s gl A an s R g 5
What 1s the difference between dry land and wet land farming ?

24, WA ¥ AW H HEEN 1 F Teeid difae | o 5

| S

Mention the problems ol cities in India,

25 Tym it R Bl ula T it 1 e i

B
Explamn any hive charactenstics of plantation farming.
260wl wdwEmn 4 gew uiEe § e &1 guiq ifam | 3

Describe the importance of road lransport in Indian economy.

%______
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